
1

Thin Client CPU Assembly
Upright Mounting

bostontec.com     |     989.496.9510

Part # - CPUTC #2 Phillips screwdriver

Tool List

11/32" Nut driver or wrench

1

2

3

Separate L brackets (A) by unscrewing 1/4-20
knobs (C) and removing 1/4-20 x 1/2" carriage
bolts (D) (Fig-1)

Apply rubber bumpers (E) in recommended
positions (Fig-1)

Loosen #8-32 kep nuts (G)
and slide upright mounting
brackets (B) apart (Fig-2)

Loosely insert 1/4-20 x 1/2"
carriage bolts (D) and
1/4-20 knobs (C) to secure
L brackets (A) (Fig-4)

Hook upright mounting
brackets (B) into desired
position on slotted upright
(Fig-3)

Secure thin client CPU by
placing between L brackets (A)
and tightening 1/4-20 knobs (C)
 
For additional security, use
optional strap (I) (Fig-5)Clamp brackets (B) tight to

upright and tighten #8-32
kep nuts (G) (Fig-3)

4

5

6

7

D
C

A A

Fig - 4

A
I

CFig - 5

B

A

B

Upright

G

Fig - 3

Item Components*

A L brackets

Qty

2

Upright mounting brackets 2

C 1/4-20 Knob 2

D 1/4-20 x 1/2" Carriage bolt 2

E Rubber bumper

F #8-32 x 1/2" Phillips pan head
machine screw

B

G #8-32 Kep nut 4

H M4-0.7 x 8mm Phillips pan
head machine screw

4

10

4

I Strap 1

*Extra hardware may be included

B B

G

Fig - 2

A
A

D

C

E

Fig - 1



2

Thin Client CPU Assembly
VESA Plate Mounting

bostontec.com     |     989.496.9510

1

2
3

Separate L brackets (A) by unscrewing 1/4-20
knobs (C) and removing 1/4-20 x 1/2" carriage
bolts (D) (Fig-6)

Remove and discard upright mounting brackets (B)
Do not discard #8-32 kep nuts (G) (Fig-6)

Apply rubber bumpers (E) in recommended
positions (Fig-6)

Mount L bracket (A) with bumpers on bottom lip
to VESA plate using #8-32 x 1/2" Phillips pan
head machine screws (F) and #8-32 kep nuts (G)
(Fig-7)

Hook monitor with thin client CPU brackets and
VESA plate assembly onto monitor arm

Secure thin client CPU by
placing between L brackets
(A) and tightening 1/4-20
knobs (C). 

For additional security, use
optional strap (I) (Fig-10)

7

8

4

5 Mount L bracket (A) without bumpers on bottom
lip to monitor using M4-0.7 x 8mm Phillips pan
head machine screws (H) (Fig-8)

6 Loosely insert 1/4-20 x
1/2" carriage bolts (D)
and 1/4-20 knobs (C) to
secure L brackets (A)
(Fig-9)

I

C
Fig - 10

D
C

A

Fig - 9

Discard

A
A

D

C

B

Fig - 6

G

G

G

F

Fig - 7

Bumpers

VESA plate

A

Fig - 8

H

No bumpers

A


